1. ‘wia e U6 & AR 1 82
(A) JuOT

(8) foBt

(C) Feramsfor FAurdt

(D) Y=<

Answer = A

2. YYUT' 1 S e 3T UT?
(A) 1612

(B) 1613

(€) 1614

(D) 1615

Answer = B

3. YU DT e D g3 T
(A) 1713

(B) 1714

(€) 1715

(D) 1716

Answer = C

4. 'NUT BT 5H Bl gl UT?

(A) THICHPR, HHRR, STRUGK

(B) THATR, BT, STRYC]

(C) THATR, HHYR, STRIC]

(D) fAHaIR, FTR, ITRUS



Answer = D

5. YNUI Hq & NI I A?
(A) BAUT TRrarsil

(B) U1 b gl ol BT
(C) FRrarsft & g gt

(D) Iugert T+t

Answer = D

6. YNUT B! Hidl HIH-HIH &7
(A) TRIGRTST 20T

(B) fRrar &gl

(C) BT &b

(D) Sugad it

Answer = D

7. YOO &1 3T FHiadl DIH-BH g2
(A) HHUT &SIRT

(B) {HUT STy

(C) ¢NUI 3l

(D) Iugad it

Answer = D

8. T foran 82 oIl @iufes o AR & T <, vofe Ree 2 ¢ gea sl A -

(A) 0T

(B) feiarafor Furat
(©) Tt @

(D) THg

Answer = A



